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Level 1 - Grundlagen - Blatt 1

Losung Al

i) =1 Fi(x) =x
f2(x) = 0,25 F,(x) = 0,25x
fz(x) = 10° F3(x) = 10%x
falx) =a Fi(x) = ax
fs(x) =b7" Fs(x) = b 1x
fe®) = e? Fy(t) = e?t
fr() = 125x F,(t) = 125xt
Losung A2

filx) =x Fi(x) = Exz
f2(x) = 0,25x F,(x) = 0,125x2
f3(x) = 10°x Fy(x) = 1_05x2
fa(x) = ax Fy(x) = %axz
fs(x) =b""x Fs(x) = b 1x
fo(®) = €%t F(t) = %eztz

f7(t) = 125xt

Lésung A3
fi(x) = x2

F,(t) = 62,5xt?

Fi() = sx + C
1(%) 3x+

fo(x) = 0,25x3

1
F,(x)=—x*+C

f3(x) = 105x*

5

105
F3(X) = Tx +C

1
fa(x) = ax® F,(x) c ax®+C
- 1
fs(x) =b7*x® Fs(x) = 7b‘1x7 +C
fo(t) = e?t? Fe(t) =3 e?t3+C

f7(t) = 125xt3

F7 (1)

125 t*+C
="
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